EAGRAROBREERT — 2 N— ABISH —F 2020752680 (H) 1E#LiR2H

bSR3 KEF GRS [ET] Exb ‘ [Xiz] % ‘ [eErsm]  — | & (&) 17000 B
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s EP N 147, -8-3- . . FEERE (FR)
17| T12=2rvnn 4 3 xSl 1(4_7)3 9-8-3-1 |38.8| 87.8| 3 (4_820) ggg%gu
R:Y=Z24—-3=224— BI(1-FEF+r> BEH #%8
SRS 3 | AR 1:47.7 13-10-8-3 | 38.9 | 84.4 | 2 508 | EEZ XM (ER)
EH 4 h7x%42T v X 56.0 2 1/2) -8 |NBEH
RLN—ESTv— BhIXETTHY T REHS
= 4t 3 | KEHRN 1:47.7 14-14-10-9 | 38.5 | 84.3 | 11 420 | EERE ()
3lglig T>&>T1F 56.0 (7E) (-10) |'BEE
:/FxVAN Bid—-AFrTH— KRW
o=\, 3 | EEREEN 1:47.9 11-10-9-6 | 38.9| 82.7 | 5 496 | BREE (FH)
JB o FFrvenuTa SR R (e | ZTASL—ZH—X ()
RUTIA NI b BT RIIYET Y — J =¥ Ty — I
o= 4 3 | BEKME 1:48.0 6-6-7-4 |39.3| 82.0 | 9 488 | EHIEF (EH)
5 1| A7~ 5.0 (1/2) © | @ Tv=Tr—u
Z:va7x B:Yv R— HE77—»4L
= — #IlE e :48. -1-1- . . HEE (EH
N BEESZUEI=v N 27 T N R A B B | <
R:d—IWRPY2—b B:T7RNZXI75—L B HFREMKSHIVAT RS
s 3 | KOE 1:49.4 5-4-3-11 | 40.8| 71.6 | 12 | 446 |HFAHZE (BR)
7 &Y 3 1Fo> 56.0 (5) (6) | ARER
LT RIA¥YL—> B:TF79Ya01XFRT4=— -
— - FHE—H : -10-14- MEER (EH)
N - NESE2 s ¢a (B] 3 o (11.419/.5 10-10-14-13| 39.8 | 68.9 | 14 (433 mESR
LIA2>T75yva BIITT4NRR BEHHS
# o3 | K& :49.6 2-2-2-4 |#41.2] 705 | 4 448 | RIUHES (EH)
9|7 1| AV T~ 56.0 () o B
RR=—HNE B XIN-F = te
- N NN FAEF AR 149. -8-10- . . REH= (FER)
10 5| FATLvaryy 4 3 ks (1742)76) 8-8-10-12 | 40.4 | 69.6 | 10 tzg? AL
R:yA7% BTRRAYTA L HBIEANS
S5 1w 43 | BOAIEM 1:49.8 6-6-3-6 |41.2| 68.9 | 6 454 | LRIEZ (ERH)
1lzl1i2| ¥7¥z v [B] 56.0 (4 1/4) o) | PiERE
g/ v T Bra—onN Yriva P BE
— o e REFE ] 410~ HEET
19l5| 8|71 —77L¥> bk [B] # 3 | REE e 4-4-10-9 |41.4| 63.7 | 13 :(1)3) REm B3
RiF4—FTUS>F Bt IN-—F=— FHRE%RS
32N # 3 | EEREEX 1:51.3 12-13-13-13| 42.0 | 58.5 | 7 512 | BFEH (EH)
EH 9|E/vFEA 56.0 (5) -12) BT
L= RVETI BN—LLRT1 2T #H B
D N 4 3 | ZHEEA 1:52.0 3-3-3-6 | 43.5| 55.9 | 8 466 | /NEE (ER)
14/ 8[14| T>AK v b [B] 56.0 @) | #) CHEVALATTACHE
L:T7RIfYL—> BTFE-—LANAHR pogE e
@ 21 L
£y 52.2-39.0
NA> 24 LA | 6.8-10.7-11.9-12.5-13.2-13.2-12.7-12.6-13.7
® I—F—&EBIERL
13=3r= (x6,11)14,8,3(1,12)-5,7,10,2,9,4-13
23=7F= (x6,11)14-(3,8) (1,12)-(5,7) (2,4,10)9-13
g =5r= 6,11(3,14,12,7)1,4,2(13,8,5)9-10
40—F— 7-6,4-(1,11) (2,14,12) (13,8)3,5(10,9)
[ N
B R 7 670M | | 71 K 4-7 530/ | | # = 3-5 1,640/ | | 3:&4& 4-7-13 29,820/
B B 7 190M 7-13 4,210/ B E 4-7 1,4708 3EE 7-4-13 127,490M
4 170 4-13 5,270 B H 7-4 3,070M
18 1,240

ABRICOVTHRTEEERROODE, THEB LS,




